In[3]:= A = {{1r 3r _2}1 {_21 _41 3}! {21 1! 5}}

oup= {{1, 3, -2}, {-2, -4, 3}, {2, 1, 5}}

In[16]:= MatrixForm[A]

Out[16]//MatrixForm=

1 3 -2
-2 -4 3
2 1 5

2
In(21:= b = [ 1 ]
4

out21= {{2}, {1}, {4}}
In[23:= x = LinearSolvel[A, b]

59 45 25

out[23]= H*E}f {E}’ {E}}

In[24]:= A.X ==

Out[24]= True

1 -2 2 2
In[29]:= A1=[3 -4 1 1]
-2 3 5 4

Out[29]= {{ll ’2/ 2/ 2}/ {3/ *4/ 1/ l}l {’2/ 3/ 5/ 4}}

In[32]:= RowReduce[Al] // MatrixForm

Out[32]//MatrixForm=
6

100 -2
13
010 -=
13
001
13

In(33:= A2 = {{1, 3, -2}, {-2, -4, 3a}, {2,1, 5a}}
Out[33]= {{l, 3/ 72}/ {721 *41 3&}, {21 l/ 5&}}

2
InB34= b2 = [ 1
4

x = LinearSolve[A2, b2]
ours4= {{2}, {1}, {4}}

~34-25a. _5(4+5a) 25
ouEe {{—12+25a}, {—12+25a}, {—12+25a}}

Inf421= ¢ = {{2, -3}, {-1, 4}} // MatrixForm

Out[42]//MatrixForm=
=y
-1 4
In[44):= Det[A - A * IdentityMatrix[3]]

Out[44]= 13+ 12 A+ 2 DN
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Inf45):= CharacteristicPolynomial [A, A]
Out[45]= 13+ 122+2A0%-A°
Inj46]:= Eigenvalues[A]

outsl= {Root[-13-12u1-211%+nl’ &, 1],
Root [-13-1211-2u1”+#1% &, 3], Root[-13-12u1-2n01% +ul’ &, 2]}

In47]:= Eigenvectors[A]

11 7 1

Outf47]= {{——+—Root[—l3—12t11—2t112+t113 &, 1] - —Root[-13-12m1-2m?+m’s, 1]°,
4 4 4
1 5 1 2
— - —Root[-13-1281-2#1%+81% &, 1] + —Root[-13-12#8l-2m1%+u1’ &, 1|7, 1},
2 2 2
117 1 ,
{——+—Root{—l3—12til—2til2+til3 &, 3] - —Root[-13-12m1-2m1%+u1% g, 3]°,
4 4 4
1 5 1 2
— - —Root[-13-12m1-2u1%+11% 5, 3] + —Root[-13-12m1-2m?+u1’ g, 3]%, 1},
2 2 2
117 1 ,
{——+7Root{—l3—12t11—2t112+t113 &, 2] - —Root[-13-12m1-2m%+m’s, 2]°,
4 4 4
1 s

1
— - —Root[-13-12m1-2u1%+11% 5, 2] + —Root[-13-12m1-2m?+u1’ g, 2]°, 1}}
2 2 2



